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OR (3121a1)

Explain why the voltage across the units of a string

of suspension insulators are unequal?

T fagaieh 1 w1 @) gemal w
dleesl AT &l BIdT 872 dui-l & |

An insulator string consists of three units, each
having a safe working voltage of 15KV. The ratio of
self capacitance to shunt capacitance of each unit

is 8:1. Find the maximum safe working voltage of
the string. Also find the string efficiency.

 fagaRiel €Y1 & AT sorE Aoz 2,
TS BT GIRIG diee 15KV B | YD SH1E
$ WI—GTRAT dAT yred—aridr &1 Jurd
81 2 X T B AETH YRR Al wa
&Y | T <Ear W S aY |

OR(3721dT)

Draw a neat diagram showing various parts of a
nuclear reactor and explain th function of each
part.
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Time : 3Hrs. Sem. -V/ 1.C.E.
Power System

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR(3721dT) (i
Discuss the effect of load power factor on the
regulation and efficiency of transmission line.

RO 15 & 99 U9 <&dl R AR
SIfad [UId & AT B fad=a=T o |
(iii)
What is capacitance grading in suspension type
insulator? Explain.

A <I3U & fagaias § orRar sa
freriRor @ 287 srer a |
(iii)
OR(3721dT)

What do you mean by 'Regulation’ and "Efficiency’
of transmission line? Explain.

IR0l o1 & 9= vd q&dar 9 |
I9sd @ ? quid Y | (iv)

Write a short note on Feranti effect.

"'BYod] gUTd IR U dferag feoofi ford |

3 1640504

TP A= oHd Ifad G99 @ qedr
ST T Bl 87

(31) 20-25%

(@) 30-40%

() 45-55%

(@) 60-70%

In a thermal power plant, the feed water
coming to the economiser is heated using.
(a) High pressure steam

(b) Less pressure steam

(c) Direct heat in the furnace

(d) Flue gases

arg e Sds A gHIAAEeR § e
qrdl WIS oid 1 41 ST SUAT B
T fear simar -

(31) STa <919 &I a1y |

(@) B9 <919 BT a9 |

(@) Wl #§ yue e |

(]) ve 1w W

The location of surge tank in a hydroelectric
power plant is near to..............

(a) Turbine

(b) Reservoir

(c) Valve house

(d) Dam

P.T.O
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(xx) WR Ied HEROT |34 > gt RR &
diees 7 gfg @) g B .. FEd 2|
(31) gtfeafidt gara
(d) R+ yHIE
(W) B yH19
(]) Wed® yHm@

GROUPB

Answer all Five Questions.

Il uig g & SR o

2.

4x5=20

Discuss the various factors for selecting the site for

a hydroelectric power plant.
4

s oidl faga @a9 & fay e =99 a1 @
faf =T sR®I @ fa@ar & |

NT5068

(vi)

(vii)

(vii)

(viii)

5 1640504

fodl ot fagga wifda w93 9 fefa

wfda AR @war 32—

(31) 39  UYPR, TS AAT YUITell BT
TEAT R

(d) 98r@, S dAT YUIell &1 q&dr W

(W) 9 @ UPR, I8 &89 & YIKR
GRINCEC]

(]) cEATZH @ UYBR, SH & UYHKR adAT
STIEI 8F D YBR

Water hammer occurs in:
(a) Turbine casing

(b) Surge tank

(c) Penstock

(d) Draft tube

STl 88X BT YHId sidl 8—
(31) exarsa sRIT A

@ uf S& A

(@) U9 e o

(?) gT¥e <g9 A

Nuclear power plant is suitable for:
(a) Peak load

(b) Base load

(c) Intermediate load

(d) Both (b) and (c)
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arde 4 R yag =1 aRom <ar 2—

(@) s uftRig Srodlo yfoRieg &1
gedr 2

(@) s9P TYoHlo UfRIY I §erar 2

(@) D Slotlo UftRIg &I Te T 2

(]) 399 Yodlo UftRIg &I werar @

If the length of transmission line increases,
then the capacitance in equivalent circuit.
(a) Increase

(b) Decreases

(c) Remain same

(d) None of these

(&) Ta ohar Ear @
(®) 379 9 BIg 8l

Transmission lines are transposed to:

(a) Reduce corona effect

(b) Reduce skin effect

(c) Prevent interference with neighbouring
telephone line

(d) Prevent short circuit between any two
lines.

NT5068

x)

(xi)

(xi)

(xii)

7 1640504
T Sorf S H AT ST © |
(31) Mev
(€) Mew
(|) MJ
() MW

The permissible variation of frequency of
frequency in power system is:

()£ 1%
(b) 3%
() 5%
(d)+7%

oIfdd gorrell # gy &1 Igay uRaxd|
BT 8—
(@) £1%
@) £3%
|) £5%
() +7%

Corona is:

(a) Sparking between lines

(b) Partial break down of air
(c) Complete breakdown of air
(d) None of these
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10.

T A Ridex fo A= ar =1
feEd gy w@es e did a1 AP @
R B FHSSY |

Derive an expression for inductance of three phase

overhead line with symmetrical spacing.
6

T 8 W 3aRerd Bredr RRIUR g @
URdhd o (P Aoid 9Tad D |

OR (3721d)

Derive an expression for the insulation resistance
of a single-core cable.

Uhd—DIR Da9d & oIy g=galeq gfeRig &1
SH YT B |

What do you understand by electric potential?
Derive an expression for electric potential at a
charged single conductor.

fagra fawa @ My w1 WA 27 Yahd
IR ards & fog faga fava 3g <ol
gred &Y |

P.T.O
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10.

T Affera RUdex fo fafr= ar &1
fead gu @8 ke did a1 AP @
R B HHSSY |

Derive an expression for inductance of three phase

overhead line with symmetrical spacing.
6

THE g8 W 3aRerd Brder RRIUR dma @
Udd o U ASid YTad D |

OR (3721dT)

Derive an expression for the insulation resistance
of a single-core cable.

Uha—PIR Ded & oIy g=geleq gfaRieg &1
ASH YT B |

What do you understand by electric potential?
Derive an expression for electric potential at a
charged single conductor.

fagra favwa @ My o WHsd 27 Ydhd
IR aree & foy faga fava 3g vis
gTed &Y |

P.T.O



PR

Akl loxeRbya (1)

Ip2lp PeRIE
RpInp| IRD 1921p bR R4 (1)
—BR] (am?) 2h k5

1m0} 3urjoo)) (1)

"23¢e)[0A
[BONILIO [eNSIA pue 9381[0A dATIANISIP [8on1I) (1)
:UO SOJON I

(lprR)IO

| 3 MK @ioke AR @ (R)
B D |2 plhk B3R h 3DR kikRie bio

9
"S[9AQ] Tenboun

1e o1k sypoddns uoym Fes 10J uorssardxd ue AL

|y
Blob 14 T Ripale ¢ RR0BY (2 Do
kb Lekhe 1o BRDRR b k3L YhlMY

‘s10)e[nsur Jo santadoid d[qearsap ay) ssnosiq
({SOUI[ PBAYIDAO IIM PIsn SIOJR[NSUL d1e AYA\

(lprR)IO

Tl

890S1LN 8I Y0S0r91

FN%

Ablk ladd|pla (17)

lngalb kg
Rpinp| IR 1921p bR R4 (1)
—BR| (am2| rh L5

“19M0) 3urjoo)) (1)

"93e)[0A
[o1ILIO TensIA pue 9383[0A dATIdNISIP [eon1LI) (1)
:UO SOJON I

(IlpreiR)AO

| 3 MK @ioke AR @ (LR)
R (D |2 Plhk LA Ah 3R kikRie bio

9
"S[9A9] [enboun

1e a1e sypoddns uoym Fes 10J uoIssardxd ue AL

|y
Blab 1o ol Ripalb ¢ BbBY ;2 pro
kb lrlkhe 1o (BRDBR kb LD Yhly

‘s103e[nsur Jo santadoad o[qeIIsap ay3 ssnosIq
{SOUI[ PBIYIDAO [IIM PIsn SI0Je[nSul o1e Ay

(Ilpreie) MO

Tl

890S.LN 81 y0sor91



	1: PAGE 16 - 1
	2: PAGE 2 - 15
	3: PAGE 14 - 3
	4: PAGE 4 -13
	5: PAGE 12 - 5
	6: PAGE 6 - 11
	7: PAGE 10 - 7
	8: PAGE 8 - 9
	9: 17-18
	Page 10

